reilons : (Qs. 1-2) Choose the COTECt Bantgpce from the options given below.
(Aj 1 have bought new fumitures,

2/ Batweenyou andl, Anll is net 4o
(8) Bo H10b0 rygted

¢y Heis worstthanl. '
(D) |wentfora watlk yesterday.

1.

2 (A) ltoldhimtogo.
He denied to come.
(C) She asked me that what are you doing.

(D) Alarge number =Oft‘_" . .

3. (A) ILITERATE
(B) ILLITERATE
(C) ILITRATE
AD) ILLITRATE.
~ HPExams.1n

& (y SOLAR | ot's do it together !
(B) SOLLAR
(C) SOLER
(D) SOLLER

Youtube channel- GkSansaar

5 ytr APPRECIATE,

(B) “KPRECIATE
{©) %PRIGJAE




“viregtions : (Qs. 6-8) From given OPUONS, chagge the word class to which the
capital letters in each senténce belongs, - '
6. Itwas an INTERESTING lecture.
(A) Verb (B) Noun
18) Adjective (D) Adverb

7. The romantic story BROUGHT tears in his eyes.
(A) Noun By Verb

(C) Preposition (D) Adverb

8. LUCKILY we escaped unhurt.

(A) Noun (B Adjective
(C) Adverb " __{D) Ve

Directions : (Qs. 9-11) Choosethe wordipﬁfaseirom~fgiven options 1o correcty

blanks.
9. Sheis.....st -.... abeautiful skirt.
(A) Futtingy (B) Dressing
{Cy Weating (D) Attiring<
10. Would you please ...........eeeees the tap for me ?
(A)/ Open (BY. Switch on
(C).» Unwind (B)- Turn on
19, WO MUSE ..vvserrrenenn TESPECE tO OUT OIdETE. |
(Bx. Do (B) Possess.

LG)/S " (D) Keep



Directions : (Qs. 12<13 From given optigns chpdge Ghawhich is opposite in feaning
(@ntonyrm) to the key worg given in ;gpim!l'éﬁﬁ’s‘*

12, RUDE:
{A) Soft
(B) Sensitive

(O Polite

(D) Careful

13. DISCIPLINE :
S{Bf’uk‘en <
(BY Disorder
(C) Rough
(B) Trouble

ellowing se

14. He is Sesnrssessnsnsnsased hones’tpersan' /

(A) The (B An
©) For . @ A

15. %mpmud..,.herpupu
(A OF (B) For
. (c))@] (%L At

8913—Page-6

m1ﬂwd article/preposition to fill in the blanks in the

A-§



(D)

@ @

@f mm



| ©)

23, ‘W e e ar

24, ‘toum
TR T g 7 e

©) s

25_ R ST
s F gt e’ fo o v e v d -

(A) i ®) whoh
0) =fafah



(A)y TS (®) HHAT
(C) w&ey Oy *4

28. "ER’ W I AGIT TGN 2

30, ‘v @ fam & =il 1 dE' A mlwwg:
#) wdfmgEIEmy
(B) ﬂ'@lsﬁmﬂ?ﬁtmwﬁ,‘w J




86 Whohas besnnamed meﬂaghaammltha |ndmn°"““ﬁgﬂmmmwmp .
‘which begins on August 24, 2021 7

(A) Varun Singh Bhatj
(B) Tek Chand

(C) Devendra dhajharia
£BY" Sunder Singh Gurjar

TN 24, 2021 % Y 98 o 2 e

37. Who s appoifited as new CEO of Ayushman Bharat Sehere 3
| JA) Dr. indu Bhushai
{B) Phagu Chaithan
(DH R.S. Sharma
T Wit Ao g wg ﬂ"mﬁﬁ»ﬁﬁﬁmmw?
(A) 2l R m
©) e

@4 235 km/h

r (D) 1,400 knvh

M 1.2901“!\"1 (D) 1,400km/h



39. What is another name for Vitamin C
(A) Ascorbic acid

(C) Citric acid

45 Acetic acid
(D) Sulphuric acid

mmﬁmmmﬁmm%) _

(A) i o (B) wifew s

(©) wefgw s (D) wewfiw
40. Who invented the battery ?

(A) Henry (B) Pascal

(C) Newton (DY Volta

F0 Ft B e 9 7

A+ B) W

©) = @ de

41. How many muscles found in human body ?

(A) 300 @®) 206
,az/;;sq . () 480

TR femert Wit T e #
(A) 300 (B) 206
(C) 650 (D) 480

42. Atpresent how many members are thete'in WTO 2

(A) 139 '8 150
(C) 148 (D) 164
T W e S WTO S e 7

(A) 139 (B 180

ACT 148 '@ 164



- ian Constitutio
43. Howmany languages are included in the aigh-m-s_chﬂdlﬂe of the Indi

(A) 18 (8) 20
€) 21 By 22
s s ) @ orereh e sl et B T 2
(AY 18 : By 20
(C) 21 (D) 22
44. Rearing of silkworm is known as ............. .

(A) Mariculture
(B) Epiculture
(&Y~ Sericulture

©) ¥dwew
(D) & |+ T

45. In which ef the following countries the Kalahari desert is located ?
(A) India
(B) Pakistan
(C) Botswana

Br Kenya /

3 e S e Ve oo & 7

(A) wrm
(C) rwar
(D) =



46. The two kinds of main memory are :

nd DV d ROM
(A) CDs and DVDs @ AAM an -
(GX Primary and Secondary ©) pirect and Sequentia
(A) et sik e @ ¥ g 9w
v S SRR
(C) wufir sik wreafirw (O) T8

47. EPROM stands for:

48.

)~ Electronic Programmable Read Only Memory

(B) Etectricat-Principat-Reau-Only. Memory
(C) Erasable Pragrammable Read Only Memory

(D) Electrical Programmable Read Only Memory
EPROM %1 swaea # :

(A) Tl S W A G- s
(B) wfgwe fifiww de-ofett T7
(€) Ryam surdae - et AHRE

(D) sofrwe Suriea de-lme A

Which kind of storage device can be carried around ?

(A) Hard disk drive (B)< System cabinet
(C) Hard disk (D) Floppy disk
fra yoR B R Rears A U-T9 R S 1 W § ?

W) fom g  (B) fiem ek

C) = fewn (D) vand few

R

Using Microsoft Word we can S'U'PM‘:;... _—
(A) Paste picture 1 i

(C) Formata text £ e

N e (BY Allof these functions
NS 2 51 7 e

(A) m : ﬁw I , m',ﬁé:on_ ooooo i ;u)o ------ .qftgl

©) Y wehg wp o



|
1

50. Cache memory acts betwesr:
(A) CPU and Hard disk
jgf CPU and RAM

{8) RAMand ROM
(D) Allofthese

O ﬁmmm’h
(A) M&‘ﬁtm‘&w L (B) ek
(C) g s tm | () awd

51. Analog computer works on the supbly of .
(B) Natural strength

(A) Physical.strength
(C) Magnetic strength ‘ LB)/ Continuous electrical pulses
Tt g Rt s v w2

(A) wiRe T L. (B) SRR

(€) Twa vi . (D) frie g

52 A cm:puter’s type, processor and Opefaﬁng system defineits:

(C) Brand {B) Pla ttorm
] o ® m e
(C) wis (Df S

§3. Which is an extremely fast computef that can perform hundreds. ot mitl\

instructions per second ? B B
(A) Workstation

(€) Mainframe Computer of
me%m%@wﬁmmmmmmt ?

(B) Minlcomputaf

(A) Ti=x __ iy
© A TR (D) W A



4. Booting the computer means : j Teetl
{A) Loading resident part of the operating égﬁiﬂm into mermory
87 Tuming the computer on |
(C) Logging in .

(D) Both (A) and (B)

(A) sitadfen famm @ Prardht wn = Feivdt & wirg FO
(B) R uwRg FeM

(C) wM & wen
(D) =il (A) sk (B)

55. The................. attacks and discourage people to get connhected to the net.
(A) Source program ,{B) System
©f Virus (D) Both (Ayand (8

cngsesseenses TN 0N & ST AT A1 F2 ¥ I B vy wdeenfiea e &

(A) ¥ ®) fieen

©) =w v, (D) =¥ (A) 3 (B) |
§6. When 60—[30- {35~ (15~")}] =60, then * is equal to :

A) -19- B) 35

© 20 () -29

60— [30- {35~ (15~ )] =60, & * wwr

(A) -19 ! (B) 35

€ 20 . (D) -29

B .)’ |

57 Whatis the average of first five multples of 12 7

N o | (B 38

#a e (D) 42

129 96 e s 0 .
(A) 36 | B) 38
C) 40 - (D) 42




58. A-and B enterinto a panne's'}‘,ﬁ :y Nvesting ¢ 14,000 and ¢ 16,000 respactively.
After 8 months, C joins them W= Capital o 7 15 060, Find the share of G in a total
profit of 2 57,000 after 2 years:

(A) % 12,000 B) 212500

(C) 13,000 (0) 213,500

A 1R B e € 14,000 3 2 16,000 ¥ rdyy ey v vty o wim e 1 8 w8 @ e,
€ 12,000 % {2 @ gy 5 W9 9% 0 &1 2 vy e 2 57,000 % e e & C = e
wa S| {

o (B) 212,500
0% 345000 (D) 213,500
o uAua trau:no VINg at speed of 90 km/h crosses a pole in 7 seconds. Find the length of
Y 50 (B) 165m
£ JT5 (D) 170m

wmﬁ'w"wﬁ@w@wammﬁmmtmﬁm
(A) 150m (B) 165m
(C) 175m () 170m

0. If Alends R 4,500 to B at 8% per annum and B lends the same sumto C at 10%
annum, find the gain of B in a period of 3 years.
(A) ®220 (B) 2240
C) T250 (D) %270. L .
WA 4,500 B # 8% it o F ex A vo sur 2w ¥ 3 B w9 uf C M 10% wfa
wATYR AT L, & 3 9d # safu B w1 wv F Kt
) T220 (B) 240
{c) T250 (D) T270

1. Age: ' n times the age of his son. In the next 10 years, the age ©
4 z?lf':::::rﬁ!:'l?s‘;:\e age of his son. What s the age of father now ?
(4) 35years (B) 37years
(C) 39years (O) 41years p
o 9% s vt ) o TR 1 SR 10 0 e iy g A A 3

T ¥ o ) s 2 .
(A) 35laﬁ = (B) 37=d




66. Which ol the following is not a foature of Cry 9

(A) Operator overloading (B)
(C) Namespace (D)
frafafiog # Ce s wt fadtum whaen =28 & 7
(A) e siiaRenfin (B)
(C) Fuwdy (D),
67. Whois the father of Computer ? ’
{A) Dennis Ritchie (B)
Charles Babbage (D)
TP B TH I T ?
(A) 2fyg fr<ht (B)
(C) =rd 99w (D)

68. The smallest unit of Data in Computer is:

69.

70.

Wy Bit AB)”

{C) KB | | (D)
e & o %) wel B g Al ©

(A) faz (B)
(C) @ (D)
In computer system, 1 nibble equalto :

(& 1bit (B)
(C) 4bytes (D)
Feare fwew # 1 nibble wET § ¢ |

(A).. 1z '-' (B)
(C) 4uamm = )

!

What is the full form of CPU?
AM Central Processing Unit

AT Central P “ - (B)
(C) Central Principle Unit (D)
CPU# wf wr s & 2 '
(A) Central Processing Unjt

(C) Central Principle 1 s @)

‘|pheritance
; Hai]erglion

James Gosling
None of these

i AHE G

Nibble

8 bytes

1 kB ¢

8 @ #

1 Pal R

Control Processing Unit

None of these

Control Processing Unit
i off Tt



71. The brain 6f any.computer syslem 18

(A) cu (8) ALu
(©) Memory 4D) * CPU
feelt weger e o afies A B ¢

(A) Cu (B) ALU
(€©) Memory (D) cPU

72. RAM stands for
(A) Random Accessible Management (8) Read Access Memory
46y~ Random Access Memory (D) None of these
RAM =1 ol &g & .

(A) Random Accessible Management

(8) Read Access Memory
(C) Random Access Memory

(D) 7= ¥ %
73. Computer shut dewn shorfcut key is :
(A) Alt+F4 (B) Ctri+Fa
(C) Shift DY~ None of these

FHR I TR WidHE 5 (key) & :

(A) Alt+F4 (B) Ctrl+F4

(C) ‘Shift (D) & A= =

74. e-Mail stands for:

(A) Eject mail (B) Entet mail
Ay Electronic mail (D) None of these
e-Mail F1 iwy 2 .

(A) Eject mail . (B) Enter mail
(C) Electronic mail (P) T | B T

7S. The first computer networkiis : |

(A) LAN B) MAN

Sy ARPANET (B) PAN
(A) LAN '(B) MAN
(C) ARPANET (D) PAN




76. The main food crop of Kharif season is :

(A) Mustard ~ @|) Pulses
(Gf Rice . (D) Wheat
@i g ¥ 1@ T wEe U \

(A) (|)
€) == O "

77. The main food crop of Rabi season is :

(A) Wheat (B) Rice
{2y Maize (D) Jowar
=l St By B T G FEHA R .

R AR (B) =

(C) === (D) =R

78. Which State is the largest producer of Bajra ?

(A) <Rajasthan (B) Maharashtra
(C)./Gujarat (DY Haryana
e Toa A TR GG IOCEE 7

(A) TSRIH (B) werg

(C) TR (D) wfRamm

79. Which of the following is not a food .cfép ?

(A) Rice - (B Wheat
(WCotton (D) Maize
Frefife # & s wrg wewm S 2

A ® M

: (Y ¥ahl




wWhich of
g0- w the following is known a5 'gquOn fibor 2

(A) Cotton
(A) w0 m““l(iﬁm fid) F W
(C) =87 A_ B) g
B tum
6. Agriculture is -

W P ﬂmﬂl'y act“ﬂty

‘ ® dary activity
(C) Tertiary activity (D)) Secon farya ivity
Fae: None of these
" JeraE TR (B) fTadras wiafafy
s (D) o A =

82 The type of agriculture practiced in India s ;

(A) Intensive farming

(B) Extensive farming

(C) Primitive farming

(B)/ Mixed farming

W # wafer Ffa & g R

(A) e Bt

B) = &t

(©) snfem (=) @t

(D) frfora @ _
O w13 Pege ! CCB-




83, Green Revolution'refers to:

(A) Use ofgreen manure 4
(B) Grow more crops

(@f High yield variety programme
(D) Green vegetationy

R sifee W= weet &

(A) vt arw wim

B) stfuw was svwm

(C) === s frer dismr

(D) =@ wreafy

84. Which of the following crops productléh maximizes after mdepende

(A) Rice (B) Jute
{C) Wheat (D) Pulses
(A) = B) &

©F % (D) =




